Key language which should be used: sum, total, parts and wholes, plus, add, altogether, more than, ‘is equal to' 'is the same as, increase, makes, addition

Addition

Concrete

Pictorial

Abstract

Combining two parts to make a whole (use
other resources too e.g. eggs, shells, teddy
bears etc)

ar®

4 +3 =7 (fourisapart, 3is apart and
the whole is seven)

Counting on from the biggest number using hum-
ber lines by using cubes or numicon

A bar model which encourages the children
to count on

The abstract number line:

What is 2 more than 4? What is the sum
of 4 and 4? What's the total of 4 and 2?
4+2

Regrouping to make 10 by using ten frames
and counters/cubes

Children to use a number line to make 10

The abstract number line:




Concrete

Pictorial

Abstract

TO + O using Dienes. Continue o develop
understanding of partitioning and place value
41+8

Children to represent the concrete using a
particular symbol e.g. lines for tens and
dot/crosses for ones.

T o

MO

41+ 8 1+8=29
o 40 +9 = 49
OlO
4|

*3

4 9

TO + TO using Dienes. Use partitioning and bridg- |.

ing 10.
45+ 36

Children to start with the largest number and
add the tens and then the ones.

45 + 36

45+30=75

75+ 6 = 81




Concrete

Pictorial

Abstract

TO + TO using Dienes. Continue to develop
understanding of partitioning and place value
and use this to support addition. Begin with no
exchanging. 36 + 25

Tens Ones

| "

4

This could be done one of two ways:

T o

000K

KOOK /X

Formal method:
Tens 35 Ines
00 +25 o0
( T ) 61 @
d 1

Expanded and formal written methods

Formal rmetihod:

36

25
61

Use of place value counters to add HTO +
TO, HTO + HTO etc. once the children have
had practice with this, they should be able to
apply it to larger numbers and the abstract

©) © @

0000 /b.

000 | QOO
00 @ |

Children to represent the counters e.g. like
the image below o | ®

@ @

If the children are compieiing u woru pl'uﬁem,

draw a bar model to represent what it's asking
them to do

243 368

243

+368
611
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Division

Key language which should be used: share, group, divide, divided by, half, 'is equal to' 'is the same as’, remainder, dividend , divisor, quotient.

Concrete Pictorial Abstract
6 shared between 2 (other concrete objects 6-2=3
can also be used e.g. children and hoops, teddy
bears, cakes and plates) What's the calculation?

LW have a similar structure:

‘.1, i @ @

BN 1155k T . .

f & M babusasn 2
* ;‘\( This can also be done in a bar so all 4 operations 3 3
e

Understand division as repeated grouping
6+2




Division

Key language which should be used: share, group, divide, divided by, half, 'is equal to' 'is the same as’, remainder, dividend , divisor, quotient.

Concrete Pictorial Abstract
6 shared between 2 (other concrete objects 6-2=3
can also be used e.g. children and hoops, teddy
bears, cakes and plates) What's the calculation?

LW have a similar structure:

‘.1, i @ @

BN 1155k T . .

f & M babusasn 2
* ;‘\( This can also be done in a bar so all 4 operations 3 3
e

Understand division as repeated grouping
6+2




Division

Concrete

Pictorial

Abstract

Understand division as sharing
6+2

Division with arrays.

Show the inverse with division and
multiplication facts.




Division

12 ones

O 0000

Concrete Pictorial Abstract
Sharing using place value counters. 22-3
42 + 3= 14 /7 ) L YA )
— :‘ ‘ . 42 =30+12
© e 1. Make 42. Share the 4
tens between 3. Can we . \ ‘ 30-3=10
[©] make an exchange with ® O
= the extra 10? oo 12-:3=4
® o 00
o) Exchange the ten for ° e 10+4=14
) m 10 ones and share out ® e

Use of the 'bus stop method' using grouping and
counters. Key language for grouping - how many
groups of X can we make with X hundreds'- this
can also be done using sharing!

615+ 5
@é o lee STepl: make 615
06 oo
2o *
w |7 | o Step2:Circleyour
99 @ e groupsof5
a8 ®
& Step 3: Exchange 1H for
99 8o /a8 10T and circle groups of
® Qe e 5
® 00
e 00
99 8, |98 Step 4:exchange 1T for
e %%aggg 10ones and circles groups
|®

®® of 5

This can easily be represented pictorially, till
the children no longer to do it.

It can also be done to decimal places if you have
a remainder!

615




Division

Concrete Pictorial Abstract
T 021, 2544 +12 Children to represent the counters, pictorially
0000 00 oe 254 Howmany groups of and record the subtractions beneath. Step one- exchange 2
96 ©c 88 i 12 thousands do we 0 thousand for 20 hundreds
" 24 have? None 122544  so we now have 25
v hundreds.
n o™ ., Exchange 2 thousand for
@g(ggﬁg oge $ 20 hundreds. 5;?2 Two—IHowkmartl:hgrz't;ups
“ of 12 can I make wi
000 .
0086 1212544 hundreds? The 24 shows the
24 hundreds we have grouped.
" esben e’ How many groups of 1 The one is how many
\%‘5;\"3’0%['? 255: 122544 12 are in 25 hundreds we have left.
Sgggtge 24 hunclir'ecils? 2 groups. e " —
44+ Circle them. xchange the one hundre
We have grouped 24 hundreds so can take 12| 2544 for 10 tens. How many
them off and we are left with one. 24 groups of 12 can I make
s ith 14 tens?
12 wit ns:
B W _|t]o Exchange the 2 The 14 shows how many tens
vl ¢ T 12[%%‘5 one hundred I have, the 12 is how many I
28955 % i 24 for ten tens so grouped and the 2 is how many tens I have
0666 99 132 now we have 14 left.
tens. How many
groups of 12 are in 14? 1 remainder 2. 1 Uz;i; Exchange the 2 tens for 20
% (7@ 24 ones. The 24 is how many ones
%@@%@@@ %gfs: Exchange the two tens for 14 I have grouped and the O is
T }%%GEE twenty ones so now we have 12 what I have left.
@ggg%agsg 24 ones. How many groups %i

of 12 are in 24? 2
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